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SECTION - 1I
MATHEMATICS
26, If (17 x 19 x 4) + m = 161.5 then find the value of ‘m’.
(1) 0.6 2) 7.0
3) 0.8 4) 8.0
27. :
Find the value of 992%
(1) 31.05 (2) 315
(3) 31.25 (4) 325
28.  Which of the following is an irrational number?
(1) 3.14 @ %
3 = (4) 3.142857
29.  Where is the ortho centre of a right angled triangle located?
(1) In the interior of the triangle. (2) On the vertex of the right angle.
(3) In the exterior of the triangle. (4) Anywhere on the triangle.
30. Four numbers p, q, r and s are in proportion. Then find the correct statement
from the following. (Choose two correct options)
M T-3 @ =7
() pq =rts (4) sp =qr
SPACE FOR ROUGH WORK
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31.

32.

33.

34.

‘x’ years hence, Mariya’s age will be ‘y’ years. Then find her age 10 years
before.

(1) y—-x+10 2) y-x-10
3) y+x+10 4 y+x-10
Find the value of 31.25%.
5 3
OORETS 2) ¢
12
B) =% @ 55

In the adjoining figure ZTPQ = ZTPR. Side PQ = side PR. Then by which
test AQPT and ARPT are congruent?

p
[OAN6®)
T
Q R
(1) S-A-S (2) S-S-S
(3) A-S-A (4) S-A-A

The measure of an angle is % times the measure of its supplementary angle.
Find the measure of its complementary angle.

(1) 30° (2) 90°
(3) 150° 4) 60°

SPACE FOR ROUGH WORK
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35.

36.

37.

A school had arranged a trip and started on Saturday at 6.30 a.m. They returned
the next day on Sunday, at 8.15 p.m. Duration of the trip was for how many
hours?

(1) 253 hours (2) 373 hours
(3) 37+ hours (4) 47 hours 45 minutes

A square piece of paper having length 8 cm. is taken, squares of size 1cm % 1cm
are cut at its four corner places. Find the difference between the perimeters
of the original paper and the paper which is cut at its corner places in cms.

() 0 2 8
) 1 4) 4

Observe the following figure and select the correct statements.

B

A

(A) Line AB and line BA are different lines.

(B) Line AB and line DC intersect at ‘O’.

(C) Point C, O and B are non-collinear points.

(1) ‘A’ and ‘B’ are correct. (2) ‘B’ and ‘C’ are correct.

(3) ‘A’, ‘B’ and ‘C’ are correct. (4) ‘A’ and ‘C’ are correct.

SPACE FOR ROUGH WORK
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38.

39.

40.

41.

42.

Find the capacity of a hollow cube whose side is 10 cm. (Choose two correct
options)

(1) 1 litre (2) 1000 cubic cm
(3) 1000 litre (4) 100 ml

Area of a circle is denoted by ‘A’ and radius by ‘#’. Choose the correct statement
from the following that states the correct relation of variation between A and r.

1) A« r (Z)Aoc#
3) Awx - @) A o« 2

Find the correct pair of twin prime numbers from the following in which the
addition of twin prime numbers is more by 44 than the sum of all prime
numbers between 1 to 25.

(1) 71, 73 2) 41, 83
3) 59, 61 4) 41, 43

If the ratio of the measures of angles of LJABCD taken in order is 7:8:4:5.
Find the type of LJABCD.

(1) Kite (2) Rhombus
(3) Trapezium (4) Parallelogram

Find the smallest number from the following such that when it is divided by
every one digit prime number, every time the remainder is 1.

(1) 106 (2) 211
(3) 31 4 71

SPACE FOR ROUGH WORK
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43.

4.

45.

46.

Saurabh invested Rs. 5000 for 3 years at rate 10 p.c.p.a. with simple interest.
Yashashri invested same amount for the same period at the same rate of interest
with compound interest. Compare the interests earned by Saurabh and Yashashri.

(Select two correct option)

(1) Interest received by Yashashri was less by Rs. 1655 than Saurabh received.
(2) Interest received by Yashashri was more by Rs. 155 than Saurabh received.
(3) Interest received by Saurabh was more by Rs. 155 than Yashashri received.

(4) Interest received by Saurabh was less by Rs. 155 than Yashashri received.

Which of the following can be the measure of an angle in the minor segment?
(1) 45° (2) 135°
(3) 180° 4) 90°

(4.973 + (2.1
(4.9)%2 — (1029 x 1) + 4.41
(1) 0.7 2) 2.8

Find the value of

(3) 28.42 4) 7.0

There is a regular hexagon having each side 14 cm. On every side a semicircle
1s drawn from outside the hexagon, taking each side as the diameter. Find the
perimeter of the figure so formed.

(1) 132 cm (2) 308 cm
(3) 216 cm (4) 123 cm

SPACE FOR ROUGH WORK

0811-Kannada Set-A 16 of 32 Contd...



43.

44.

45.

46.

ARTIR 5000 TRTOWNIR), 10% ©OHE 3 IRFEN ITIWRWT TRES
TRRTZ. CDBYETD WKy TOBVI), WTe TOLOT WK FRTEMON WEWE,
DRSO TRET TRRT. TRV QTR TEOTOT WHT BV IRRO.

(omofg)de TR 03RenNTS woirarojor{@ﬁﬁaq 503, m@a)

(1) oD PTPINOZ 1655 TRITVOWNLD 2§ 3R BRTEY)
(2) OBert FPTLINOET 155 TRIDOWNED W& TR BRTED)
(3) APTPIR 03TeN0Z 155 TRIDOWNL W& TR BRTEI)
(4) TPOPIR o0BEeNo8 155 TRTCWNY W 8RN BRTem)

OPORIFY DoBEABOR FeIne edad FINIYNIE, CIRFR> QPR

(1) 457 (2) 135°

(3) 180° @ 90°
(4.97 + (2.1 o

4.9)2 — (1029 x 1) + 441 R

1) 0.7 @ 23

(3) 28.42 @ 7.0

14 Zae. ghRTE A0DT RARLSH BEoIROW 1w F[TD SYTERE
3 ¢30RTE0eeS BRVN0T @qﬁrﬁ&r@éda’% Sricen So3RTenIE B30 TOS

QR?
(1) 132 Foe (2) 308 Foe

(3) 216 =oe (4) 123 e

BTV B FOTFN

0811-Kannada Set-A 17 of 32 P.T.O.



47.

48.

49.

In the adjoining figure, an isosceles trapezium is drawn. The measurements

of sides of the figure are as follows.
I(QR) = I(PS) = 5 units,

[(PQ) = 5 units, /[(PT) = 4 units. Find the area of [IPQRS.

P 5 Q
5
4
1 []
S T M
(1) 32 units (2) 44 sq. units
(3) 32 sq. units (4) 24 sq. units

Instead of investing Rs. 3000 with simple interest for two and half years, if
Rs. 4000 are invested with simple interest for two years, interest of Rs. 25 is

earned more. What is the rate of interest?
(1) 10% 2) 6%
3) 4% 4) 5%

Read the following statements and choose the correct alternative.

(A) 29, 31 are twin prime numbers.
(B) 29, 31 are co-prime numbers.
(C) 29, 31 are prime numbers.

(1) ‘A, ‘B’, ‘C’ are correct.

(2) Only ‘A’ and ‘C’ are correct.

(3) Only ‘B’ and ‘C’ are correct. (4) Only ‘A’ and ‘B’ are correct.

SPACE FOR ROUGH WORK
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W) 29, 31 VR FBRWL BRI

) 29, 31 ¥R WRY BN

() ‘& ‘W ‘T cdeernzonss. (2) 3R ‘@ R ‘T cdeenEonEs.
(3) 3RO ‘W FFY ‘T deenEeN®. (4) B[O ‘@’ @B ‘W odeenTNS.
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50.

51.

52.

53.

54.

Factors of a polynomial are (x — 7) (x — 8). Find the polynomial.

(1) x% + 15x + 56 (2) x% + 15x — 56

(3) x% - 15x + 56 (4) x* — 15x — 56

Reena had some flowers. She prepared garlands from them. When she made
every garland of 12 flowers, she was left with 11 flowers. If she had used 16
flowers for each garland then she would have left with 15 flowers. If she had

used 18 flowers for each garland then she would have left with 17 flowers.
Find the minimum number of flowers that she may have.

(1) 161 (2) 155

(3) 143 (4) 145

The sides forming right angle of a right angled triangle are 7 cm and 24 cm.
Find the radius of the circumcircle of the triangle.

(1) 25.0 cm (2) 12.5 cm

3) 12 cm (4) 13.5 cm

Every year the population of a town decreases by 5% due to migration of the

people. In the year 2022 the population was 9025. Find the population of the
town in the year 2020?

(1) 10,000 (2) 11,000
(3) 11,025 4) 10,250

The denominator of a fraction is greater than its numerator by 6. If the
numerator is decreased by 1 and the denominator is increased by 9, then the

new fraction is equivalent with % Find the original fraction.

M 3 @ 2%
3 13 @) 3

SPACE FOR ROUGH WORK
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50.

51.

52.

53.

54.

2000 JRFTIS0D WEaDT (x—7) (x—8) V7T & Td IRRTO?

(1) x2 + 15x + 56 (2) x* + 15x — 56

(3) x% — 15x + 56 (4) x* — 15x — 56

deed BN B0 BRPNPS. @ FBodeord 12 BRIT BRSO, 330N
RPIAER 11 TR GuPoI0TH. womd Fed 16 BN SRS, okROATN

15 TRMYO GUPOT0TYY. 2,08 Bed BB 18 BRVT WP, BBRORTT
17 SR GU90I0IS. TGS @me BET 8RR 08T 2R, BTN 2T0TI)?

(1) 161 (2) 155
(3) 143 (4) 145

2,000 T8RS EERCITY FoWERCT BREN PRNG ur T IRoe. Tone 24
B0e. JTW. TMET & SIRERT TORTBFYT SHRER?

(1) 25.0 Fxoe (2) 12.5 Fxoe

(3) 12 Aoe (4) 13.5 e
ATO0BTTOMORDO0T 2,070 YWOT BIF0L,C300 TJ,EIRFT 5% TOHT
BRI, 202289 & 00T wSB0aZ0I0 9025 BTT. 202009 & 0T
wIFoF030 R, BBY?

(1) 10,000 (2) 11,000

(3) 11,025 (4) 10,250

WOTD RPTIFOTH TR @oéi’%oé 6 003 TRENT. @03k 1 008 TR
RBRBRN  TONR ejecﬁwmq 9 003 éaﬁ% BRRTT  eFpFmorosn 33030 %
ST, TOMORT WY BOTPTIF 0T O30 ?

(53 2)

—
-

NN
(VST UV]

3 1o )

—
-
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5S.

56.

57.

8.

59.

Solve. (Select two correct options)

3x+2  2x o x+1 _

6 t3 T T3
1 3 2) 2.5
(3) 3.5 @ 3%

If an article 1s sold for Rs. 150, certain loss is incurred. But if the article is
sold for Rs. 275, the profit is one and half times the loss. Find the original
price of the article.

(1) 225 (2) 250
(3) 175 (4) 200
) . 22 + Tx + 6
Simplify -
plity x2 — 13x — 30

2x+3 2x—3
M $=715 @) $F1s

2x—3 2x+3
3) T3 @ YF15

b

To complete a job, ‘A’ requires 12 days. For the same job, ‘B’ requires 20
days to complete the job. Both of them worked together for 3 days and then A
left the job. To complete the remaining job, how many days ‘B’ will require?

(1) 18 2) 15
(3) 12 4) 10

9

Mrs. Desai purchased 30 tables. Out of that she sold 25 tables and received the
same amount which she had spent to purchase 30 tables. Find the percentage
of profit or loss in this transaction.

(1) 25% profit (2) 20% profit
(3) 20% loss (4) 25% loss

SPACE FOR ROUGH WORK
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5S.

56.

57.

58.

59.

WRO.
W2 2 205 (3nRde a0m> odnenmen BokRrohRYE), ©od)
a’m@@)

(1) % (2) 25

(3) 3.5 (4) 317

2WOTD dﬁ;dﬁa@l 150 SRTOCIN BROTRN R, TIATRMRTRE €T3 woBeRNT
Bex), PP B TR[R), 275 ARTOWR VRORR ST TMES & BRI
TR 2363 @a’%‘?

(1) 225 dw. (2) 250 dw.

(3) 175 ow. (4) 200 Gw.

J0YBRT BRRO.

22+ Tx + 6

x2 — 13x — 30
2x+3 2x—3
D =13 2 Y¥15
2x—3 2x+3
() ¥=15 (G

WO FOR TP mm@d@&ﬂ ‘AR 12 O3 desorogs B’ 20 QR
Wemorogs. Qute Fed 83 FURm) 3 QN3 BRART [0BT AT T ),
TRV, TIMWTT WVPT TR T[REE mm@da@ B'R o), 0T Wewordmgy)?
(1) 18 2) 15

(3) 12 4) 10

§e:08 TeROWOD|3> o3BW IS 30 BweT Feomte wie WSCLI) 25
@3&5@971@3530{ B[RO TBEET. TMRTT B JRTIVEY, @R[OR Se8w 9oy WF
BeBE TR ATWEWED?

(1) 25% o3 (2) 20% o3

(3) 20% TR (4) 25% TR
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60.

61.

62.

63.

64.

65.

3* = 27Y = 92 = 729. Find the value of (xyz)%.

(1) 36 (2) 216

3) 6 4 11

Which of the following polynomial has the co-efficient form (2, 0, 0, 0, 0, —5)?
(1) 2x* -5 2) 220 -5

3) 2x° -5 4 x> -5

A ditch 20m. long 10m. wide and 5m. deep was dug and soil was spread
evenly over a ground that was 25m. long and 20m. wide. What was the
thickness of the soil spread? (Choose two correct options)

(1) 20decimeter (2) 20cm.
(3) 2.0m. (4) 20m.

The diameter of a ball is 20 cm. Find the volume of the air in the ball. (%
= 3.14)

(1) 41866.7 cubic cm. (2) 4186.67 sq. cm.
(3) 418.67 cm?. (4) 4186.67 cubic cm.

%—f‘%) Find the price of <%—i>

The price of a washing machine is Rs. ( y

washing machines.

O (353 @ (55+3)
® (545 @ (B-%)

A car travelled the distance 38 km, 27 km, 40 km, 35 km in the first four
hours respectively. How much distance the car should travel in the fifth hour,
so that the average speed of the car will be 35 km/hr?

(1) 25 km (2) 40 km
(3) 45 km (4) 35 km

SPACE FOR ROUGH WORK
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60.

61.

62.

63.

64.

65S.

3
3% =27 =97 =729 953 (x2)? = 7

(1) 36 (2) 216

3) 6 4) 11

(2, 0, 0, 0, 0, —5) 3% ABMID? CAVITIR WBITD CINT)TO?
(1) 2x* -5 2) 2x0 -5

3) 2x° -5 4 x> -5

2,00 TROTY 20s0¢ x  10a0e x  S5e SINTVE IR BReRWIN LTOOT
BRTOIE RS, 25 e Ui, T 2000¢ BRERTE BwST  Boed
TRNFOECINPN TTRRTON 2R, BBPRTOR @IS FT S0RTMIRHT?
(om@de QTE wodnrodaﬁ%fa’% Slews) wm@)

(1) 20 Teaoewo® (2) 20 Zoe

(3) 2.0 Qe 4) 20 Qe

2,000 ol AR 20 FWwe 9B, TMET WTTYTOR TFOD FIPO R,
(n = 3.14 éﬁdséfaomr{)
(1) 41866.7 e

(3) 418.67 Hawoe

(2) 4186.67 Pa0e
4) 4186.67 e

20T WSO WATT 233030 <%+%> ORTION VTW. TOMTT (%—%)
TOOONT FATNG WS ), TRFTOW SRFT?

o (53 o (53

> (353 @ (2%

2,003 TPTIRY BRTOSOD T, TATY, WROFROTN 38 3¢, 2780¢, 4080¢
TONR 353300¢. 0BT FIWATT. DTHOD TITE, D), WOBT AN WOBIT
NOORD FeNe) 358600 /TR0 SNRORTO?
(1) 25 3ee
(3) 45 s0e

(2) 40 3ewe
(4) 35 doe
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Directions for Question 66 and 67.
In the following ‘Percentage Bar Diagram’ the percentage of expenditure and
savings of Shri Tushar is shown. Observe the graph and answer the questions

that follow.

SPACE FOR ROUGH WORK
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B3 53990F 66 00T 67 T TN TRWE :-
eL

5e DTWT AWT ANDF ToNe GUITVONT BRIy SIS F0TSDT,
ZREOFINT. WTT QOETH BHRE BINTSY, WRRD.
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66.

67.

68.

69.

70.

Shri. Tushar’s income in the month of February was Rs. 40,500. Find his
savings in that month.

(1) 12,150 2) 28,350
(3) 12,500 (4) 28,000

b

Find the ratio of savings to expenses for the month of ‘May’.
(1) 17:3 2) 5:17

3) 17:5 4 3:17

Laxmanrao purchased shares worth Rs. 10,500 and paid 0.5% brokerage. Find
the amount spent to purchase the shares including brokerage.

(1) 15,052.50 (2) 52.50

(3) 10,552.50 (4) 1,044.50

Choose the correct alternative in which all the pairs are matched correctly.

A) 2 —17y-60 a. (y-12)(y-5)
B) 12—17y+60 b. (y+20)(y-3)
C) »+17y-60 c. (y=20)(y+3)
D) y2+17y+60 d. (+12)(y+5)
(1) A-c, B-d, C-a, D-b (2) A-c, B-a, C-b, D-d
(3) A-a, B-c, C-d, D-b (4) A-d, B-b, C-a, D-c

The inner surface of a cylindrical well of height 14m and radius 250 cm is to
be plastered with cement-sand layer. At the rate of Rs. 100 per square meter,
what will be the total cost in rupees?

(1) 22,000 (2) 22,00,000
(3) 2,20,000 4) 220

SPACE FOR ROUGH WORK
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66.

67.

68.

69.

70.

5e BOoTWT VRO FOWO ONEITACL NPBOI0 40500 THTWW BT, TS
S SONYTY, OF), TRTCWNYRY, LUVTICD BRRETI?

(1) 12,150 2) 28,350
(3) 12,500 4) 28,000
‘e oMITVYON VVBIONT TN D¥FT TORREET AF?
(1) 17:3 2) 5:17
3) 17:5 4) 3:17

@ﬁf@@ﬁd& 10,500 SRTOONYNR Jee3TF e BROTT. @Cﬁ%?éﬁ 0.5% T é@@gﬁa.
TOMOTT BeRORLS Jeea e @x% SRTOCVNYT BROTTI?

(1) 15,052.50 (2) 52.50

(3) 10,552.50 (4) 1,044.50

BRODATOT 2@, WRERNTYCDL odper) TOSREODBI) 8030, [RRO.
©) »* - 17y - 60 a. (v -12) (v — 5)

w) »* - 17y + 60 b. (v +20) (y — 3)

?) ¥+ 17y — 60 c. (-20) (@ +3)

@) y2 + 17y + 60 d GG +12) (y +5)

(1) &-c, w-d, s-a, &©-b (2) e-c, w-a, 3-b, &®@-d,
(3) -a, w-c, ¥-d, @b (4) e-d, w-b, I-a, B-c

2000 TOBRRCLDTITOITIE WD 8¢y 14 08T Tone &, 250 e,
BT, WD 2WSNT a’éa’%mﬁwa’)& 230083 -VRZT SBT3 Sfa&%&@dﬁgﬁ TS P
Q08301 100 BRI TOTOZ R, TRTIOW DWF ROYTO?

(1) 22,000 (2) 22,00,000

(3) 2,20,000 4) 220
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71.

72.

73.

74.

75.

A shopkeeper sold two articles with marked price Rs. 1900 to A and B. He
sold one article to A by giving discount of Rs. 171 and sold another article
to B by giving discount of Rs. 152. How much was the difference between
the percentage of discount given to A and B?

(1) 0.5 2) 19 3) 1 4) 0.1

In the adjoining figure £y = 90°, I/(xy) = 8m. l(yz) = 15m, WM L1 XZ,
WM = 6m. Find the area of the figure.
W

(1) 171
(2) 111
X
M (3) 162
(4) 222
Sm
y L Z

15m

Two lines are intersecting each other. The measures of the vertically opposite
angles in a pair are (2x + 65)° and (7x — 10)°. Find the measures of each
remaining angle.

(1) 95° (2) 85° (3) 75° (4) 105°

AC 1s the diameter of a circle. ‘B’ is any point on the circle. Find the false
statement from the following. (Choose two correct options)

(1) «£BCA < 90°

(2) ABCA is an acute angled triangle

(3) «Z£CAB > 90°

(4) Measurement of the arc ABC = 180°

Two rectangular grounds have area 1541 sq. m. and 759 sq. m. respectively.
If both the grounds have same breadth, find the breadth of the ground.
(1) 33 m. (2) 69 m. 3) 23 m. (4) 67 m.

SPACE FOR ROUGH WORK
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71.

72.

73.

74.

75.

©ONRTOR 1900 TRV BnDed Y QTVT HOE BANERY, BP0 ‘A’
Sgrt 171 desmooned @ene B B3 152 Semeodond et (00IRoé) ERusD.

TIMRTT QWO 8083, AR (D0IROIY)TE, LorRTTRO Fe3t wm), FTUR FRRT?
(1) 0.5 2) 19 3) 1 4) 0.1

NS 3o, LY = 90°, [XY) = 8we., (YZ) = 15Qwe., WM L XZ,
WM = 630e. 0= $38030900 Frt3 1Bt 3BHY am), i.00¢. ATORT?

v 1) 171

@) 111

X M (3) 162

- 4) 222
yU z

15 Qoe
TR Beineh TIT FeDATON IR 3T e eedodn (v + 65)°
B3 (Tx - 10)° 2. 008 B3R 3T S IR, BoIIRY, 2TZE?
(1) 95° 2) 85° 3) 75° 4) 105°
2000 BFBT A AC 9T Tone Vo0 B’ 1l @339 300930 oSne)ce
2od> BF. TGS FNSINLAD ITNTHT OGRS IR
(om@de QOB wm:mwg ejoj% dfo@@)

(1) ZBCA < 90°
(2) ABCA 2@ o038 3Rt
(3) «Z£CAB > 90°

(4) 803 ABCOD ©¢93 180° <o3.

ARRT LNOVTR HTRE SODTTTE FYTosnY FFFOR) WR0TRON 1541
wPae. TRR 759 P AT BMET BTINY WNY F?

(1) 33a0¢ (2) 69 e (3) 23awe¢ 4) 67 0¢
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